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M ORINZZ2NSE S 61,852 60,602 1,250
OM2tAIZE A& 225 2R 61,852




2A: EA2
M BACTHD 2o BHG
el SEAE 2E 2 (Che 2l
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
—0IHHI (428 L&)
30,925,790 & x2H 61,852
s 30,000
Al 31,852
NSl SM23 MUIA "B 83,683 96,444 A12,761
EYEN2 BN B2 50,670 54,255 A3,585
201 2| 7,600 9,280 A 1,680
01 At 22|l 7,600 9,280 1,680
Oktzd 29 228 7¢
100,000& *12& 1,200
O A=)| ARZ (YD, A5 TEH)FY
65,0003 *1CH*23| 130
OX=za 0IEXE FII2td=E 2 3,750
—Z2tX 10,0002 x255*12& 3,000
—==2H 150,000& *53 750
OXz4 0IEXE &7 = 2,520
N 15,0002 * 128+ 123 2,160
— XX 5,000& 65+ 128 360
206 M=4| 1,820 3,475 A1,655
01 M=l 1,820 3,475 A1,655
OEMESEE R (ESHOE, ESEE
HS) 80,000&*12& 960
ORFID =M3I’S JtE L
1,000 *500JHK 500
ORFID B —& 4502 +800HA 360
405 KHoHE =S| 41,250 41,500 A250
01 AL ESH =S| 1,250 1,500 A250
oo e 25,0002 505 1,250
02 S 40,000 40,000 0
O/IZtEA 7 15,0003 *2,200& 33,000
OguEA 7 25,0002 *100A 2,500
OSSN P (A, =R
15,0002 x200H 3,000
OHdEsSEAN 7Y 15,0002 100 1,500
ELTHS WSTZH 2Z 15,356 21,710 NB,34
201 Let2| 1,660 3,480 1,820
01 Ar2eltl 1,660 3,480 21,820
OUsSIZZH =588 s4aH(4) ME
66,0003 x2A! 53] 660
OusIZIzd 288 s(5) M
600,000 600
OusIzd 29 28 74
100,000 *42| 400
206 M= 4l 2,900 2,900 0




M SN2
. BACHB 2% 243
ol AIDl SA23 AHIA HIZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 2,900 2,900 0
OdAl =28 2 S|
100,000& %10 1,000
O gol =228 24 M=Hl
100,000« 102 1,000
Ods =278 2 MEt|
100,000 +x0Z 900
301 LtENZ 10,796 15,330 A4,534
14 IIEt2d3 10,796 15,330 N4,534
OSA Z2I8 2A+Y
90,0002 x62| 32 %t 1,620
OAI2l SNt BA=g
90,0003 »62|*32 &t 1,620
OSaHAZ - XR) T2 LAl
90,0003 *62] x224 £t 1,080
Ods T2 A 1,336,000 1,336
OO0t Z28 ZAlH
90,0002 +82] 720
OFHB (M) TRIY A=Y
90,0002 52| x22 2t 900
O Hof Z28 At
110,000 82| x42 &t 3,520
S NE SHEUE A 17,657 20,479 N2,822
201 fet=23y| 9,067 10,519 1,452
01 AtR2te|HI 2,767 3,119 A352
O=SMHES &AF 20 (2) WA
66,0003 x84 528
OSHEE AL B20(E) R
110,000& 84 880
OSHEE SAF B20H(0)) I
253,000 *34] 759
O8A 28 =5 78 200,000 *34 600
03 A2 I 6,300 7,400 A1,100
OZHBE, SAHO 2 #Al 29
650,000& 22 1,300
OJ1=gs D183 2
1,000,000 *32] 3,000
oIt =8 SZAME =29
2,000,000& %12 2,000
301 2eEN= 8,590 9,790 1,200
11 AALEEIXIE S 1,790 1,790 0
OSATE A N HRZAX L4t
10,0002 +30& 300
O A &F2t, SN & AL HILA 24
10,0002 30 300
OSAMAZ I 24
10,0003 x3E~ 123 360




M SN2
B 2ACHZ 2% BAE
ol AIDl SA23 AHIA HIZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O gf= Ji= +an 24t
100,000 %12 100
OQIAEITE OIME It 24
10,0003 x4 123 480
OO0ISXHE 2 A MR 24t
10,000& »252 250
14 JIEt2 83 6,800 8,000 1,200
O "AZn &, S ZA=E
700,000 42| 2,800
O TXIRel 13 20|, ZAE
500,000 *42] 2,000
O "2l "igtll, ZAE
500,000& *42] 2,000
=2ch2 2E 243t 216,049 250,978 A34,929
[ 30,000
Al 186,049
=2t AE 2 2l 120,751 121,025 N274
= 30,000
Al 90,751
=2 A2 2 3l 21,539 24,947 A3,408
201 el 18,037 18,947 A910
01 At22t2lt] 17,244 18,154 2910
Ost&da 2 &l 2¢ 1,520,000 1,520
Ostdd 2 siEttlE 7Y
55,0002 x38t A% 123 1,980
Ostdd et &
12,0002 6 A+ 123 864
Oztda H3Hl+ 7
45,0002 x6 0 A~ +4E 1,080
O] SF(50L) 7
1,300 %1008+ 122 1,560
O&=)| gEx 35,000 *3CH+ 122 1,260
Oulbl eg= 15,0002 ~6CH = 12 1,080
O3J188)| dgz
30,000 +7CH* 12 2,520
O0IZXt Ttz SAIEX 7
25,0003 402 A 1,000
OEAM2t RUYEE 10,0002« 12& 120
O&= A2 tHal &I
100,000 34 300
O=A2t &AL =8 SEH
8,000 x5&+5ed« 123 2,400
Qu=s4 2258 7 100,000 %52 500
OZge 228 7 100,000 %52 500
OH=2I1 & AJI ¢ 10,000 +62 60
OXt=d =25 ¢ 500,000 *14] 500




M SN2
Y ISCHB 2% BHE
Rl SskA2 29 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 793 793 0
O3B A2E 3l 3lHI(B2)
400,000 12 400
O == M3 SHH3IHI(33)
123,0002 %12 123
Ost=EA283 2FHERNTE23 3lHI(
62) 80,000& %12 80
(O~ =1l 60,0002 *12 60
OMa YIS 60,0002 *12] 60
OJtAARLD HHA HMAUBE
20,0002 %12 20
OfIg= ardae| g3l
50,0008 %12 50
202 04l 3,502 6.000 A2,498
01 =LHA LI 3,502 6,000 A2,498
O=Adls g2 =8 3,502,000 3,502
SSEAM2 AIEES 22 31,020 29,136 1,884
201 fer= 3| 19,180 14,780 4,400
01 At 2|l 8,820 1,620 7,200
O3AES 78 100,000 »12& 1,200
OfIig=s etd&tel Jlz=u=H|
70,0003 *1 70
OAZOIHBRIN HENST 248
200,000& %12 200
OJtA erE e X} D1 W S|
100,000& %12 100
Os2J| et 2 A} Il =
50,0008 %12 50
O=M2 HEx 9 600,000 * 12 7,200
02 s3=gHl 10,360 13,160 A2,800
OsdIl HII18E ==&
200,000& %12 200
OEADIA HI1BE =22
60,0002 %12 60
O0ISAtE Y old AlEE
150,000& * 12 1,800
Oz A2l QY 2 AAZZ
150,000& «12& 1,800
OZAD KRECIEl Al R
150,000& «12& 1,800
Oxgd= Sl M 250,000 *23 500
OFANZ =8 OI=&eY 500,000 x22| 1,000
Ooxd+ 8% 1,000,000 *14] 1,000
OCCV =RA24= 1,000,000 *14] 1,000
OAare =&l 100,000& « 12& 1,200
206 M=l 1,200 1,200 0




M SN2
Y ISCHB 2% BHE
=@t A2 29 2 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 1,200 1,200 0
OAlZ= dHIE 223 7¥
100,000& * 12 1,200
401 AIEHIX R0 10,640 13,156 N2,516
01 A28l 10,640 13,156 A2,516
O=AMZ 28 HA 5,000,000 * 14 5,000
OXEE AAE oo 2UD| 2 MA
120,000& 22CH 2,640
OCCTV =It4 X 3,000,000 *14! 3,000
=2Th2 B 4,600 4,600
201 Let=ghl 4,600 4,600
01 AtR2t2|HI 4,600 4,600
OO0IsAt et s It M=
10,0002 *300H 3,000
O0I8 L AtRlZ HIZ
100,000 * 10H 1,000
O=A2t OI0IKl , SS& ME Z2 13
600,000 *14] 600
ST Al HE AL 63,592 62,342 1,250
[ 30,000
Al 33,592
101 ©1AH| 61,852 60,602 1,250
[ 30,000
Al 31,852
M ORNZZ2NSE S 61,852 60,602 1,250
OM2tAIZE A& 22X 2R 61,852
—QIHHI(4THEE =&
30,926,000& »2H 61,852
= 30,000
Al 31,852
201 et 3| 300 300
01 AtR2te|HI 300 300
OO0kt T2 8 =& 300,000 *14] 300
301 LELE NS 1,440 1,440
14 JIEt2d= 1,440 1,440
OO0f2t T2 2 At=sg
90,0003 »82|x22 £t 1,440
A2 SN AHIA WS 95,298 129,953 N\34,655
S2TA2 A B2 58,440 83,045 N\24,605
201 er2 3| 6,000 6,060 260
01 AtR2t2|HI 6,000 6,060 260
OZAMRIMEE(HRE BSAEA &)
100,000 «12& 1,200




2A:

oz 552@ 29 243}
SRl AR SAMHIA M2 (crop:mel)
SN - B S(BH) - HBAY - BAS ol by G o HIRS2
OMAS)| BB(Z ASH LH)
65,0002 1CH*23 130
OBIZAXZ BESEE(PHY, X S)
500,000 * 14! 500
Ox2a 2AEE 1 100,000 *63 600
OX24 0I2AE FI2tee 7Y 1,890
—22HX 10,0002 * 125+ 12 1,440
—F2HX 150,000 %3% 450
OX24 02X 42 S 1,680
-S4 15,0002 «8E+ 12 1,440
— XX 5,000 x4E+128 240
206 THZHI 2,440 2,485 A45
01 MH2HI 2,440 2,485 N5
OFRFID AEE D 2U(ZA)
45021 % 1,200 540
ORFID SAERZE 7 1,000 %700H 700
OSNECISE([M2t, 2teIH S)
100,000 * 122 1,200
405 RHAaHE S| 50,000 74,500 A24,500
01 AL SEFSH| 5,000 12,500 AT,500
OHIZEAXZ 2 5,000
—D\D 25,0002 *50% 1,250
—LP 50,0002 *50Z 2,500
—CD 25,0002 +505 1,250
02 TATFUY 45,000 62,000 A17,000
OrIZEAN 7 32,500,000 32,500
OSHITH P01z, 8,82 S)
25,0002 *5002A 12,500
SN IRTI2IY 29 17,634 23,974 6,340
201 LBt2H| 4,954 4,954 0
01 Al22t2|H| 4,954 4,954 0
OuSIZ ) S =0H(A) M
66,0002« 1241 %23 1,584
On|IZINY S8 204(=) M
110,000+ 124! 1,320
Ols S5t T2y 2% 2 7Y
200,000 %53 1,000
OSENFHANE T2 2 22 7
200,000 %43 800
OOl 702X 22 2L
250,000 %13 250
206 THZHI 2,100 2,100
01 24| 2,100 2,100
onsIZzy 29 2|
200,000 *6A! 1,200




2A:

25 Secam e Bay
Rl A2 SAMEIA WS (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OdAgtZ2 I8 =4l 100,000&+x0E 900
301 EtE N = 10,580 16,920 26,340
14 JIEt 2 a3 10,580 16,920 6,340
OAlRISAE W 2A=E 4,860
—doHI1E Ol Sat 22
90,0003 *62|x62 £t 3,240
—0l=1 NGt SMRA(HE/HS)
90,0002 +52|x22 & 900
—SMHLE TR0y
90,0002 +82] 720
O=AZ 837t g 23t U=
200,000 #72] 1,400
OXFl FH0O| 23 ZA+E
90,0002 +62|x22 &t 1,080
OtlsZasd(¥el, =5) IA=+g
90,0002 *123] 1,080
Ok A& Ast T2 )8 2A=E
60,0003 42| +x9& 2,160
SSEAZ SAEE HA 19,224 22,934 23,710
201 Eer2 3| 10,464 13,464 A3,000
01 At2t2lt] 2,464 2,464 0
O8AL 228 S+2(A) MA
66,0003 * 124 792
O8AL 228 S+2(8) M=
110,000 *64] 660
OSAEE AL S0 40 JMEH
253,0003 *44] 1,012
03 Ar=EHI 8,000 11,000 23,000
OZHBE, SO 2 #Al 29
500,000 22 1,000
Odi&d0l = 592 29
2,000,000 #32] 6,000
O=A2 23Tt AL 2
500,000& 22 1,000
301 EtE NS 8,760 9,300 AB40
11 dALEBIXNIZE S 1,760 2,300 A540
OQIAEITE OIME A 24 JIZEI2
- 10,0002 x5&« 122 600
O 9= Ji= &I} 24
100,000& %12 100
OTMBEZ, SHO 2 #AF EIIX B4
10,0003 x20&H 22| 400
ONSIIT NASAA 24
10,0002 30 300
OSAMAZ I 24
10,0003 x3E~ 123 360
14 JIEt2 8= 7,000 7,000 0




S S
HM: 2T 29 2435
SRl AR SAMHIA HI2 (69 =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS N2, EMO & S LA
1,000,000 23] 2,000
Oul&(0ls, 8%, HE) S LAY
1,000,00024 %33 3,000
OUIEEEA ARG 500,000 %43 2,000
ZYTAY 29 2435 618,319 618,319
= 30,000
Al 588,319
AT A2 29 22 487,585 487,585
= 30,000
Al 457,585
AT A O F=H| 377,770 377,770
201 B2 A Y| 14,320 14,320
01 At22r21H| 14,320 14,320
OIRIE B2 AlAE 3,520,000 % 14! 3,520
082, QA 2tol&A
650,0002 * 12CH 7,800
OHBAIIE BETA 7
3,000,000 14! 3,000
401 AlEHIL 20| 10,000 10,000
01 Al&H] 10,000 10,000
OAteI2 M= 10,000,000 10,000
405 KHAHE SH) 353,450 353,450
01 AL S EF SH 248,450 248,450
SN HSSAAY = 144,400
— XIS 25,000,000 +2CH 50,000
— 2018t 35,000,0002*1CH 35,000
— LR OHHILE 15,000,0002 %3CH 45,000
-39z Zaly 2,000,000 +2CH 4,000
—AAE HIATE 214D
2,600,000 +4CH 10,400
OXgal, N|A 2HSE 29 67,650
—HAS)| 5,000,0002 *2CH 10,000
—PC(ZFME, HAIAR)
1,000,000 10CH 10,000
—DUEH((EME, gA38)
250,000 * 10CH 2,500
—2UHE PC(LSAR)
1,500,0002 % 1CH 1,500
—LES(USAE) 1,500,000 *1CH 1,500
—EHE3 PO(TAZM, 22101 FHR)
800,000 *3CH 2,400
—HIZE T2IED) 2,000,0002 *1CH 2,000
—HI2E AHUH 200,000 <2CH 400
—H)|5 =) 1,000,000 *1CH 1,000




M SN2
BN PACAP 29 B4
el FEAa 2 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—a 250,000 *2CH 500
—ZEENSAAY S8
3,000,000 *1CH 3,000
—ags8)| 600,000 *3CH 1,800
—DID 6,500,000 ~2CH 13,000
—SE(H) 650,000 *5CH 3,250
—SE(4) 360,000&*10CH 3,600
—SNEH2E 0S4 Att2l
200,000 *5H 1,000
—=2otel 2o g FHI(XY, 01012 8)
1,000,000 14| 1,000
—22tol 2ot Y8 AAH
1,500,000 *1CH 1,500
— & HMAISI (AED) 2,500,000 *1CH 2,500
—&AD| 1,000,000 «2CH 2,000
—EAIE 300,000 +2CH 600
— 4k Hi==J| 800,000 =2CH 1,600
—Zojel 2| HIXESS
1,000,000 %14 1,000
OXZ4, AIRY S I+ 36,400
—uSs4 HOIZ, X
500, 000& *404 20,000
—A=d E oA, HOIS
15,000,000 * 14 15,000
—ZAl 700,000 *2K 1,400
02 =A bl 105,000 105,000
ON2EA 7 105,000
—020IEA 15,0002 +3,5002 52,500
— B A 15,000%4+3,5002 52,500
SET A OH2AIZE HE AHY 61,852 61,852
[ 30,000
Al 31,852
101 e124d| 61,852 61,852
= 30,000
Al 31,852
M ORIMZZ2NSE S 61,852 61,852
OMHAIZE AE 224 21FY 61,852
—QIHHI(4HEE =&
30,925, 7903 x2H 61,852
[ 30,000
Al 31,852
FETMS 2E Bl 26,713 26,713
201 =3 22,213 22,213
01 At22t2lt] 21,550 21,550




M SN2
BN PACAP 29 B4
el FEAa 2 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ost&al 2 siEElE 7Y
55,0002 32t A% 103 1,650
Ostdd 2 a&Al 28
42,0002 x58t A% 103 2,100
Oztda Letil 2
12,0002 *8H 210 960
O=tda H3Hl+ 7
45,0003 *8IH A+ 102 3,600
OMgD] S£(50L) +&
1,3002 %1008+ 102 1,300
O&=)| dER 35,000 =4CH =102 1,400
Odltl eg= 20,0002 ~6LH* 102 1,200
O3J188)| dgzs
35,0002 +8CH* 10 2,800
O0IBA Xtz SAIEX 7Y
25,0003 202t A 500
Ok RegER 15,0002« 12& 180
O&==A2 U=l FoH
100,000 3% 300
O=AN2 248 SEHI 3,360
—0RI2% =& SEHI
8,000« 1 *202* 122 1,920
—CA2EAL =8 SEH
8,000 x3E+5& 12 1,440
Ousd 225 7 100,000 62 600
OXZgle 228 7g 100,000 *62] 600
OXza 32 +# 1,000,000 *14] 1,000
2 S5=24g4l 663 0 663
O3B A2tE 3l 3lHI(B2)
400,000 12 400
O == M3l &HEIHI(33)
123,000& %12 123
OS2 N2 2=EEXRE 23 3HI(6
2) 80,0002 %12 80
OA g2l 60,0002 *12] 60
202 04t 4,500 0 4,500
01 =LHOHI 4,500 0 4,500
OSAHZE 242 2 4,500,002 4,500
N2 AIEES 22 13,650 0 13,650
201 fer=3| 12,450 0 12,450
01 AtR2t2|HI 7,650 0 7,650
OAYotM 2| At Il ==
200,000& 14 200
OsZIetd e Xt J=u =]
50,0003 14 50
OdJIetE el Xt Iz =]
100,000& %1 100




2A: SA2
M AN 2Y 2435
ol ZFEN2 29 2 EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OJtror@eelXt D= nst]
100,000&*1H 100
OFLEE 7¢ 100,000 12& 1,200
OZAZ UGE3A EY 600,000& «10& 6,000
02 2324l 4,800 0 4,800
OAHE =Hb| 100,000 x12& 1,200
O M2 ClHY 3d AlEE
150,000& «12& 1,800
O0IZ2AE Y 3l AIEZ
150,000& 123 1,800
206 =4l 1,200 0 1,200
01 =Yl 1,200 0 1,200
OA&E ZHIZ 2428 7Y
100,000& x 123 1,200
IS B 7,600 0 7,600
201 B2 AY| 7,600 0 7,600
01 AtR2telt] 4,600 0 4,600
Oz =228 =8 &
10,0002 3004 3,000
O M2 oty eIES FMIE
1,000&*1,000& 1,000
OZ M2 0I0IX S84 HE T2
600,000 * 14 600
03 HAL2Z | 3,000 0 3,000
O A2 2t A 3,000,000 14 3,000
NS SMAHIA JIS 130,734 0 130,734
FIEAS BN = 75,170 0 75,170
201 B2 AY| 23,090 0 23,090
01 At 2elt] 23,090 0 23,090
OSHOIMBE(HIRE, BSAEH ) 7Y
100,000 = 1200 & 1,200
O AS)| SS(BZE, A5%, TH) 7
65,0002 x2CH*23| 260
OXtzdl 292E F(=AS, THAHXIN
S) 100,000& %103 1,000
OXtzal olsig FoitdE 2 1,890
—Z2tX 10,0002 x 125+ 12 1,440
—=2HX 150,000& 35 450
OXtza 0128 ME 715 1,740
—=2X 15,0002 x85+12& 1,440
—XIX 5,000& *5&+12& 300
OAOIREA FAIH =2
30,0002 x500& 15,000
Ogozity 28 22001, SMIE) A
& 40,0003 =504 2,000




2A:

SN2

Y BACHZ 2% BHE
Rl A2 SAMEIA WS (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 2,080 2,080
01 MHZH| 2,080 2,080
ORFID A/ZEHD 2 4502 #4000 180
ORFID SAN3IE3 7Y 1,000 *700H 700
OzMEeIES(Mete, ctdIl §) +
100,000 »12& 1,200
405 AHAHE S 50,000 50,000
02 =AFbl 50,000 50,000
OdlZe N e (0felol, &el)
15,0004 +1,3002 19,500
Og0ol Sat=M 2 20,0008 %1,5252 30,500
M KT NY 29 29,504 29,504
201 fer=3| 4,604 4,604
01 AtR2t2|H] 4,604 4,604
OounsmZz27l g2 #42(a) M
66,0003 *124!%22] 1,564
OnsZzNYy 85 2%4(5) Mz
110,000 641 x23] 1,320
Oousnzd 28 =58 7Y
150,000 +82] 1,200
OHITHE 2% 2& FZ278 124 (Z00M)
500,000 *14] 500
206 MH=HI 2,100 2,100
01 MHZH| 2,100 2,100
OMEd st (Hs) Mg 7
100,000 %93 900
Og0o Sat 28 =24 M= 7
100,000& » 122 1,200
301 2= 22,800 22,800
14 JIEt2 8= 22,800 22,800
O NT Z2E A
150,000& x2)H+4 5| <83 9,600
OMEE St (Hs) TA=E
60,0002 x22|x305=*2H 7,200
Og0 Mg =208 ZAg
60,0003 *2)H+22] x 102 2,400
ONZISAHSD SASES
90,000& x202] 2K 3,600
ZENE SATE A 26,060 26,000
201 Ler=23| 16,160 16,160
01 AtR2telHl 12,360 12,360
OSHEE A 22 S20HA) HE
66,0002 104! 660
OSHAEE SA 22 S20HZ) M
110,000& »104] 1,100




2A: SA2
B AT AP 2% 243
2l ARl SAABIA HZ (SHol: )
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OSAHAE 8N 22 25 2
200,000& *34! 600
OYUSAHES T2 )3 (R) =5
50,0003 *200H1 & 10,000
03 HAr2 G| 3,800 3,800
OTHRFZ, SHO 2 A 24
1,000,000 *22] 2,000
Og0 S3at oalol A
600,000& *33| 1,800
301 LPBNF 9,900 9,900
11 HALAHIXI A2 1,600 1,600
OPQIAEIE OIME EILAF 24t
10,0002 x5F 10 500
O g= Ji= &I} 24
50,000& 4+ = 200
OZM&tF2H, SHE & AL EOHA B4
10,0003 20 *23| 400
O=AMAX EBILA B4
10,0002 x5F 10 500
14 J|EI2 43 8,300 8,300
OENBE, SAO o S2 BALS
1,000,000& 22| 2,000
OR0iR! YOIYHY 2Y AALT
150,000 *30=F 4,500
O=ENMNE RE2EL ZAY
600,000 *33| 1,800




